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class Ci {
doublel radius’;
Circled)4 * radius defaults to 0 +* }

voidl setRadius (double r) {
if (2 < 0) { Systeém.out.println( "Invalid radius.
else { radius = r; }

}

double getArea() {

")}

return radius x radius = 3.14; }
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class Q@gcleCalculat
vol\Jnain

String/[]

public static

_ s e ol

net

" C.getAreal();
System.out.printIn("Area:

}

+ area);
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int
Account (int id) { this.id = id; + balance defaults t 0 = }
void deposit (double a) {

| if (a < 0) { System.out.println( "Invalid deposit." ); } |
else { balance += a; }
/JZLL

(ZW\L&F MEA /'ZMI‘C H

|
class @Applicati < i 4m(£ Mk\/’—_.
pubic 3tatic voz String[] args) { hdl&‘ul
Scannern input = new Scanner (System.in); —

= new Bank(); Account accl = new Account (23); O
accl) ; Li?
/@%w semkle(); & TN fr‘/é MA@L
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class Circle {
ciouLl(—" radius;

else { radius = r; } 9@,&,@, (]—

double getArea() { return radius » radius *» 3.14; }

}

A0Sy
class {

éfu(t/
static void main(String[] args) { }IP 14

= new Circle();
s 78 K ylorma|
W—=>double area = c.getAreal(); V')QlecO(
System.urintln("Area: " +area ; ‘fh ’
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class ézfcle

2

double radius;
Clrcle " 1 le f t " }
‘setRadlusi ble /) throws InvalidRadiusException {

N S ) ke (27 é; fo

L// throw /%valldRadluﬁE—beptléky"Negative radius."); i/z

f S —
<lse { radius = r; }
}_———
double getArea() { return radius *» radius * 3.14; }

public class CircleCalculator2 {
public static void main(String[] args) {

(22<? ( Scanner input = new Scanner(System.in);
- ean 1nutRad1usIsVahd false;
e )
U garac /o whiledy {

System out. prlntln( Enter a radius:");

—>double r = Lnu:..mxt@kﬂ_eq;'f/a

Circle c = new Circle();

emen) -

in utRadlusIsVal
ystem.out.print("Circle with radius " + r);
System.out.println(" has area: "+ c.getArea());
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{f r from the user is negative */

s "+ & + " is invalid, try again!™;
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class Account {
int id; double balance;
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Account (int id) { ... } KLKXL 43ﬂCE}E
void withdraw(int id, double a)

throws InvalidT ionExceptlon {

for(int i = 0; 1 < numberOfAccounts; 1 ++) {

if(accounts[i].id == 1id) {

rggbounts[i].withdraw(a)k

} ~
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Account () | *+ balance defaults to 0 =« } ~p > ,{
void withdraw(double a) throws InvalidTransactionException { Cﬂ(O
if (a < 0 || balance - a < 0) {
throw new InvalidTransactionException("Invalid withdraw."); }
else { balance -= a; }
) € N —
}
L |clasd Bank } R
Account] accounts; int numberOfAccounts;

/4.43/

class B lication {
pubic static void main(String[]
Bank b = new Bank();
Account accl = new Account (23);
b.addAccount (accl) ;
Scanner input =

System.out.println(accl.balance);

catch
System.out.println(e); } } }

args)

double a = input.nextDouble(); ,QTC(’
tr { g
(b.withdr & NAS 3

}

(InvalidTransactionException e)

{

new Scanner (System.1in);
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class A {
@nt 1) throws NegValException ({
if(i < 0) {"throw new NegValException("Error."); }
else { /+ Do something. =*/ } ’V’”
5 il

. yP -
new A é}
oa.ma(i);’} {i/e w i7

NegValException nve) { /* Do something. =%/ }

class -{
public static void main(String[] args) {
Scanner input = new Scanner (System.in);
int i = input.nextInt();

B ob = new B();
ob.mb(i); /* Error, if any, would have been handled in B.mb.

b}

*/
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class A {
ma(int i) (Ehrows NegValException {
if(i < 0) { throw new NegValException("Error."); }
else { /# Do something. =/ }

b}

class B {
e ) (o

,/)0 @EAoa=new A(); g(?l\ < L
/c; 1 - e

417 oa.ma(1i); o A hﬂ?Q /j

1)

classb {
public static void main(String[] args

Scanner input = new Scanner (System.1in);
int 1 = input.nextInt();
B ob = new B();

( oo @Bl ; )

(NegvalException nve) { /* Do something. =*/ }
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class A {

ma(int 1)
if(i < 0) { oW e w—a alPxception("Error."); }

else { /+ Do something. =/ }

b}

class B {
mb(int i) throws NegValException ({

3 {VA oa = new A();
,&&W‘j‘oa.ma(i);

R

b}

class Tester {
public static void main(String[] argsm {

T Scanner input = new Scanner (System.in);
int i = input.nextInt();

{\;C

7 B ob = new B();
»“1 '
(=

01,\ ob.mb (i) ;
}
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